
 

 
20. 3 

 

 
 
 

1
7

8
+ 3

1

2
= 



 

 

5
3

8
 

 

 
 
 

0.45 × 6.12 = 



 
2.754 

 

 
 
 

3
1

4
× 2

2

3
= 



 

 

8
2

3
 

 
 
 

     Mrs. Bentley bought 1.5 pounds of 
ground beef from Stuff-Mart. How 
much did each pound of ground 
beef cost if Mrs. Bentley paid a 
total of $6.75? 



 
4.5 
 

 
 

8
7

12
− 3

3

4
= 



 

4
5

6
 

 
 

    A baker made cookies before his 
store in the morning.  
 He sold 2

3

4
 dozen of his cookies in the 

morning.  

 He sold 3
1

2
 dozen of his cookies in the 

afternoon.  

 There were still 4
1

3
 dozen of his cookies 

left when he closed the store.  
 
How many dozen of cookies did the baker 
bake before he opened the store? 



 

10
7

12
 

 
 
 

     Aaron has a 10-foot long piece of 
tape.  He uses five pieces of tape 
that are each 1.25 feet long.  How 
much electrical tape does Aaron 
have left? 



 
3.75 

 
 
 

      
8

9
÷ 5

1

3
= 

\ 



 
1

6
 

 
 
 

      

2
4

5
−

5

8
= 

\ 



 

2
7

40
 

 
 
 

      
13 − 6.59 = 

\ 



 
6.41 

 
 
 

    Heather is making muffins. The 

recipe calls for 1
5

8
 cups of flour.  If 

she triples the recipe, what is the 
total amount of flour she will need? 

\ 



 

 

4
7

8
 

 
 
 

      
8.12 ÷ 0.4 = 

\ 


